7-3 Solving Systems Using Elimination (Part 2)
I can solve systems of linear equations using elimination. 
	Solve using elimination.  

8x – 9y = 19

4x + y = -7



	Solve using elimination.  

7x + 3y = 25

-2x – y = -8



	Solve using elimination.    

2x + 8y = -42

-x + 8 y = -63



	Solve using elimination.  

-x + 8y = -32

3x – y  = 27



	Solve using elimination.  

3x – 10 = -25

4x + 40y = 20



	Solve using elimination.  

7x + 15y = 32

x – 3y = 20



	Solve using elimination.    

x – 8y = 18

16x + 16y = -8



	Solve using elimination.  

24x + 2y = 52

6x – 3y = -36



	Solve using elimination.  

2x + 4y = 8

5x + y = -7



	Solve using any method.  

Y= 2x

Y = x + 1 



	Solve using any method.  

5y = x

2x – 3y = 7



	Solve using any method.  

Y = x + 2

Y = -2x + 3




